FERSIZ-HERR
e 35
[X=]
Cll 3 =
FE | Py | @R | #F2E | PR [AFRRE] #FS R
() (ha) (FH) () (k) (FH) B

= SHER =R = HR=E
234 1,539 5179| 1,914,844 423 494,576| 141,736 %g:%;ﬁjf’iﬁmmm““*
244 1,389 4689| 1,637,588 145 68,713| 18,838 TiETHE. AKE. TE.EBE. ®E
FT25%| 1323] 4619 1,740,882 381| 472,338 130,704 i%’if ”i'f%;ﬂ,i%%*

B SN EEHE.BE
ER264F 1,209 4535| 1,737,254 229 152,757| 44,200 tEEEE. BKE. TE. BE.EKF
ER274F 1,149 4575 1,635,333 110 102,429| 20599 TEERE. BRKE. TE. BE.EKF
— TEBHE. MEERE. =.
284 1,056 4564| 1,876,627 193 114,720 33,509 BE Rk=
FERE294 1,015 4584| 1,961,958 201 186,950 53,683| LTIEEME. EKE. H=E
ERI0FE 897 4185 1,749,479 196 204,188 55,408 E.RE TEEBRE. BKE.RKE
SHTE 775 3,498| 1,428,550 193 151,914 39429| LTIEEME=E. BKE. F
SH25F 672 3,071 1,355,869 384 614,303 173,066| TiETHE. RE. F=E
[Z1X])
Cll = # E=
FE | Pg | @E | AFSE | PR [AFARE] £F: N
(F) (ha) (FA) (F) (kg) (FA) -

ERk234F 81 378 97,567 15 6,395 4005 TIEERHEE. BKE.EE
ER244F 96 407 98,436 28 11,987 6,417 tEEREE. BAKE. F
ERk254 128 415 102,196 84 56,170 29,560 TiEEBHE.RAKE.HE
ERi264 135 455 93,768 63 22,646| 10,483| tiFEHE. B®E
k274 122 452 64,324 26 18,666 7826| LIEEBEE.AE.AKE
FERpk284E 137 478 58,577 49 22,471 7469 EKE. TEERE H®E
FERk294F 182 548 70,201 80 29,888 9,284 TEERE. RKE.HKE
FHB0%E 162| 497 70,842 47 12.483| 5644| TEEHEE. AKE. FTE MHTAYO
SHTE 150 462 68,275 51 12,326 6,031 tEERE. RKE. TE
SH25E 130 428 55,286 32 4,960 1,754| TiERHEE. #B®E




